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Probe 2 Waple

Zetyl &6 |3p |60 | Jo |20 | 450|180 | 170 |L4o | 270
Tl¢|2%% |24% |L0F | 2%, |26, |2¢.7 | 292 | 2% F| 297 |29%7
Zeit ifs| oo | 539 | w0 |Tso |T6o |3%0 | 380 |30 | %00 |Gwo
Tfocl 29 F |Jo¢ | 32,8 | 34,4 | 35,0356 | 36,022 | 3,3 |69
Zeitth| Loo | 470 | ¥40| &€l | 460 |&FO |Swp | 510 | 560 |30
T[°c| 365 | 3¢5 |36:6 |26, % | 36+ | 76,6 | 36,6 | 36:6 | 36,6 |26,
zeity] {20 | (50 [ 680 | 340 [#40 | 770 |

T/%C| 36,5 | J6,5" | 36,8 | 26,4 | Fes6 | 364

m, m, L T T,

206,589 | 1oy 10,¢°C| 2¢.7°C | 36,&°C

grafische Darstellung des Temperaturverlaufes
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Berechnung der spezifischen Wérmekapazitét von Probe 2
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